

Name: _____

Class: _____

Date: __/__/____

Topic: Multiplying of integer ضرب الأعداد الصحيحة

Write the answer

$(-5) \times (+2) =$

$(+2) \times (-7) =$

$(-6) \times (-6) =$

$(+3) \times (+6) =$

$(-4) \times (-3) =$

$(+8) \times (+2) =$

$(-1) \times (-4) =$

$(+6) \times (-2) =$

$(-2) \times (-1) =$

$(+9) \times (-7) =$

$(-9) \times (+6) =$

$(+7) \times (-4) =$

$(-2) \times (+2) =$

$(+4) \times (+8) =$

$(-9) \times (+5) =$

$(-8) \times (-4) =$

$(+1) \times (-7) =$

$(+7) \times (+6) =$

$(+3) \times (-5) =$

$(-5) \times (-5) =$

$(+2) \times (-9) =$

$(+1) \times (+6) =$

$(+4) \times (-1) =$

$(-8) \times (-3) =$

$(-5) \times (-2) =$

$(-8) \times (-6) =$

$(-7) \times (+7) =$

$(-6) \times (+7) =$

$(+3) \times (-2) =$

$(+5) \times (-8) =$